import pandas as pd
import numpy as np

# EEEREHE
movie=pd.read_csv("IMDB-Movie-Data.csv")
# FIRTEEFENaN

pd.isnull(movie).any()

Rank False
Title False
Genre False
Description False
Director False
Actors False
Year False
Runtime (Minutes) False
Rating False
Votes False
Revenue (Millions) True
Metascore True
dtype: bool

# (FEEFFIIHHE

movie=movie.fillna(movie["Revenue (Millions)"].mean())
movie=movie.fillna(movie[ "Metascore"].mean())
pd.isnull(movie).any()

Rank False
Title False
Genre False
Description False
Director False
Actors False
Year False
Runtime (Minutes) False
Rating False
Votes False
Revenue (Millions) False
Metascore False
dtype: bool

# [EJfT . AL FIFo AIF 5, SEIIAHEFEE

# FBgHI I8

print("The average rate of movies is {}".format(round(movie["Rating"].mean(),2)))
# RIS SEN (XE)

print("The number of movies' director is {}".format(movie["Director"].unique().size))

The average rate of movies is 6.72
The number of movies' director is 644

# [EJRR2 . XS FX—HERAE, Flrating, runtimefY5 76185
# HFrating#iEidZ, RAD ARG

bins=[5,6,7,8,9]

rating = pd.cut(movie["Rating"], bins)
rating.value_counts().sort_index().plot(kind="bar")

<Axes: xlabel='Rating'>
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# HFruntime#IEITIZ, RADHRETHITT
bins=[60,70,80,90,100,110,120,130,140,150,160,170,180,190,200]
runtime = pd.cut(movie["Runtime (Minutes)"], bins)
runtime.value_counts().sort_index().plot(kind="bar")
<Axes: xlabel="Runtime (Minutes)'>

200 A
150 A
100 -
5{} -
D .

— — — F— —_ —_ — — — — —_ —_ F— —

o o o o (=] o (=] o o o o (=] o (=]

[~ oo a3} o — ™~ rn =t U w [ w0 o o

- - - — — — — — — — — — o~

o (=} o - - - - - - - - - - -

o M~ oo o (=] o (=] o o o o (=] o o

- = = o =] — o~ (51 =t TS} o r~ oo (=]

- — — — — — — — — —

Runtime (Minutes)

# [BJER3: X FIX—HB/A0E, FitiBs/m3E(genre) BIIEN
# LRSI ESI#L
# (BHFFE TR 5| RF T —HE
flatten_list = [j for i in [i.split(",") for i in movie["Genre"]] for j in i]
# (EHESHITEEIGFRNIE
kinds = list(set(flatten_list))
# LRI BRI Series
genre = pd.Series(np.zeros([1,len(kinds)])[@], index=kinds).astype("int32")
for i in flatten_list :
genre[i]=genre[i]+1
# EHEAE

genre.sort_values().plot(kind="bar")
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